Errata (updated on February 19, 2019)
p. 5. In Fig. 1.6, “S” should be “s”
p. 13.  Eq. (1.5.19) should be 
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p. 35.  In the line below (2.5.3), there should be a space between “1” and “make”

p.39. Eq. (2.6.16) should be 
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p. 45. Fig. 2.20 should look like:
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p. 47.  In Reference 11, “Netterer” should be “Natterer”

p. 59. Since 
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does not satisfy the fan-beam data redundancy condition, in Eqs. (3.4.9) and (3.4.10), 
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p. 60. In Fig. 3.12,  should be '
p. 80. Line -3, g(s,) should be g(l,)
p. 81. In (4.5.4) and p. 82 in (4.5.5), 
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p. 83. In Problem 4.3, change 
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p. 105 In (5.4.12) and p. 106. in (5.4.13), 
[image: image11.wmf]S

D

D

-



 EMBED Equation.3  [image: image12.wmf]should be 
[image: image13.wmf]2

÷

ø

ö

ç

è

æ

-

S

D

D


p. 115 Eq (5.4.44) should be 
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p. 127 In (6.1.6), -PTP should be + PTP.

p. 127 In (6.1.10)  should be T.

p. 127 Line one after (6.1.10),  a diagonal matrix
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 should be  a row matrix 
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p. 144. In Fig. 6.19, change x2 to r2; change |x| to |r|.
p. 155. Change Equation (6.10.2)  as well as the paragraph above it to

You may have also heard of the total variation minimization. The TV (total variation) norm of an image v(x,y) is defined as
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p. 156. Change the first line to

TV norm minimization enforces a flat image with the gradient being zero in most places.
p. 156. Change Equation (6.10.3) to
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p. 164. Change line 3 of Equation (6.11.35) to
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 [Change the order of summations.]

Change line 4 of Equation (6.11.35) to
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p. 186. In the line below Eq.  (7.4.11)  change “exponential” to “exponent.”
p. 189. In lines 3  and 4 of the Solution to Example 3, change the two equations to
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For the latest Errata please visit http://medicalimaging.yolasite.com
Please report the errors to: larryzeng@live.com Thanks. 
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